The Association of Corporate Treasurers CPD Exit Test


Risk Management

Business and Financial Risk Analysis

Worked Solutions

Question 1

You are treasurer of an international group which is based in the UK, quoted in the UK and with operations in the UK and the US.  You are considering the currency in which your debt should be denominated.  Your gearing (debt: tangible net worth) is relatively low at 28% but you still feel that even modest debt can be used for risk management purposes.

Your sales are 44% GBP and 56% USD.  You have manufacturing operations in both your UK and US subsidiaries.  There is very little cross border trade. 

Which of the following possible currency proportions would you select for your debt?

(a) 44% GBP, 56% USD

(b) 100% USD

(c) 100% GBP

(d) 56% GBP, 44% USD

(e) don’t know

Answer 

The right answer is (b) 100% USD

With little cross border trade and manufacturing operations in both US and UK subsidiaries, it would appear that transaction risk is likely to be fairly low.  Manufacturing implies substantial costs in both currencies as well as substantial revenues.  Therefore the key risk to attempt to manage appears to be translation risk.  In that case, as your company is based and quoted in the UK, it seems reasonable to hedge the risk by holding debt in USD to balance the net investment in the US subsidiary.  As gearing is low the net investment is unlikely to be less than the total of the debt.

Manual V Ch 6 and 14, Manual VIII Ch 2

Question 2 

You are the treasurer of a housebuilding company.  Which of the following would best describe your interest rate risk?

(a) it is primarily related to the interest basis of your debt

(b) it is primarily related to the proportion of fixed costs to total costs

(c) it is primarily related to the business you are in

(d) it is primarily related to the size of your total debt

(e) don’t know

Answer 

The right answer is (c) it is primarily related to the business you are in.

Housebuilding activity, and profitability, is strongly related to the housing market.  As rates rise activity falls markedly.  Your performance can therefore be affected dramatically by rates changing.

Answer (a) could be right under some circumstances.  High floating rate debt, for instance, coupled with the industry characteristics can result in rising interest payments with falling performance.  Answer (b) could be right in that, given the industry characteristics, as rates rise and activity falls the profit impact of that fall would be greater than for a business with low fixed costs.  That might be why most housebuilders keep fixed costs low.  Answer (d) is right only to the extent that interest payments, or the market value of debt, will vary as rates change.  In the case described the change in performance of the business will be significant – perhaps more so than the direct effect on debt.

Manual V Ch 13, Manual VIII Ch 2

Question 3 

You are treasurer of a plant hire business whose operating assets have an average age of 6-months.  Up until now the funding has been arranged on the basis of matching each asset with a specific loan for its expected life with the company.  This means that the funding of the business is virtually all less than one-year maturity.

Which of the following statements best reflects this situation?

(a) there is a repricing risk

(b) there is a refinancing risk

(c) there is refinancing and repricing risk but the refinancing risk is more important

(d) there is a refinancing and repricing risk but the repricing risk is more important

(e) don’t know

Answer 

The right answer is (c) there is refinancing and repricing risk but the refinancing risk is more important.

Both risks are present but the refinancing risk is significantly more important. Whether or not funding is tied to particular assets, a drop in performance could result in all new funding being effectively withdrawn.  No new asset could be purchased and the plant to be hired would rapidly deteriorate, losing competitive position.  The repricing risk is of less consequence.

Manual V Ch 13, Manual VIII Ch 2
Question4 

You are treasurer of a UK-based business which has just opened its first branch overseas.  Up until now all activities have been within the UK.  There has been a significant establishment cost, all of which has been paid in local currency.  The purpose of the branch is to make it easier for existing customers in the local market to communicate with your company.

Which of the following best reflects the risk involved in establishing the branch?

(a) there is no change in currency risk

(b) a transaction risk is created

(c) an economic risk is created

(d) a translation risk is created

(e) don’t know

Answer 

The right answer is (a) there is no change in currency risk

The branch has been set up to improve communications with existing customers – there are no new customers or new methods of determining price thus transaction risk and economic risk is unchanged.  It is tempting to suggest that there is a translation risk but the new establishment is a branch not a subsidiary.  Translation risk only arises on consolidation and therefore cannot arise with a branch.  The local currency cost is translated into sterling on a once-for-all basis and is retained in the accounts as a sterling asset.

Manual V Ch 14

Question 5 

You have been particularly impressed by a newly formed investment banking boutique.  Their advice in terms of risk identification and management has been absolutely first class.  You are aware that they have expended a significant amount of time and effort on your behalf and you would like to reward them with some business.  You now feel that the right opportunity has arisen.

They have recommended a swap, with them as your counterparty, to manage the interest rate risk associated with the 7-year floating rate instrument which you are about to issue.  The swap in question produces the lowest fixed cost of funds of all of the other advisors’ recommendations.

Which of the following best describes this situation? 

(a) the situation is risk-free

(b) there is a basis risk

(c) there is a refinancing risk

(d) there is a counterparty risk

(e) don’t know

Answer

The right answer is (d) there is a counterparty risk

The newly formed investment banking boutique is very unlikely to have the rating to support this type of business.  Within the 7-year life of the issue, and the swap, they may be required to make large payments to you.  If they are unable to meet the requirement over the life of the swap then your risk management disintegrates.

Manual V Ch 11

Question 6 

As treasurer of a poorly performing conglomerate you have been irritated recently by the constant demands from your relationship bank to reduce the overdraft facility which they provide.  Following a particularly disagreeable exchange after your performance has begun to improve, you have a chance meeting with an ex-colleague who suggests issuing Commercial Paper.  He assures you that, despite the poor past performance, the market will accept your paper.

After some hesitation and reflection you agree to try the idea and the initial market reaction is much better than you had feared.  You take pleasure in substantially reducing the bank overdraft, and the facility limit, after the success of the issue.

Which of the following best describes any risks involved?

(a) there is a counterparty risk

(b) there is a liquidity risk

(c) there is a basis risk

(d) there is a re-pricing risk

(e) don’t know

Answer

The right answer is (b) there is a liquidity risk

With no committed bank back-up facility there is a significant risk that the market will decline to refinance maturing paper.  Under these circumstances the company would suffer a severe liquidity crisis which may well lead to the demise of the company.  Given the recent poor performance of the company this must be a very real risk.

Manual V Ch 5, 11 Manual VIII Ch 5

Question 7 
You have an investment of £1,000,000 that yields 6-monthly coupon payments and rate resets.  It is with an AAA-rated bank.  Funding this investment you have a liability of £1,000,000 which requires quarterly payments based on 3-month LIBOR.  This is from an AAA-rated bank.

Which of the following best describes the most significant risk of this situation?

(a) there is no risk

(b) there is a counterparty risk

(c) there is a basis risk

(d) there is a credit risk

(e) don’t know

Answer 

The right answer is (c) there is a basis risk

There is a basis risk in that the investment is based on 6-month resets while the liability is based on quarterly resets.  The two interest rates could therefore move out of line and the value of the net interest payment / receipt could change markedly.

Manual V Ch 11

Question 8 

It is Christmas 2005.  You have just booked next year’s holiday with a small independent travel company and paid the initial deposit of 10% of the value of the holiday.  The balance of payment is due 6 weeks before the departure date.  Your holiday is planned for Christmas 2006.

You know that most of the travel company’s business concerns retail package holidays taken during the summer months of June to September. 

During which of the following periods is your deposit most at risk?

(a)
Immediately after booking

(b)
April - May 2006

(c)
June – September 2006

(d)
September – October 2006

(e)
don’t know

Answer

The right answer is (d) September – October 2006

Travel companies such as the one described tend to be characterised by an inflow of cash during the period when people are booking their holidays and paying deposits.  This changes to an outflow of cash as the peak passes and creditors have to be paid.  Thus the period just after the peak period is the time when the travel company, and your deposit, is most at risk.

Manual V Ch 2, Manual VII Ch 1

Question 9 

You are treasurer of a major capital goods manufacturer based in the UK selling globally with competitors in the US and Japan.  Sales of these goods typically involve extensive negotiations to determine price and other terms.  You have been asked to make recommendations regarding how spare parts should be priced in local currencies.

Which one of the following would most closely match your response?

(a)
Currency price lists should be updated weekly to reflect exchange rate changes

(b)
Price lists for spares should only be issued in sterling

(c)
Currency price lists can only increase slightly above domestic inflation for that currency

(d)
Currency price lists should be re-issued whenever exchange rates move by more than 2%

(e)
don’t know

Answer

The right answer is (c) currency price lists can only increase slightly above domestic inflation.

Issuing price lists in sterling is clearly putting the risk back onto the buyer.  At the time of purchase of the initial equipment this may make your goods appear to be very expensive.  Even at the retail level some cars get a reputation for having “expensive” spares.  This will cost initial sales.  Changing currency price lists at varying frequency as the exchange rate moves is still essentially pricing in sterling.  The assumption appears to be that these methods will work because the buyer cannot go anywhere else.  Captive buyers do find ways of going elsewhere, often by buying alternative equipment next time if they do not think they are getting value now.

Manual VIII Ch 5

Question 10 

You have a UK manufacturing facility and your costs are all in sterling.  Recently you have begun to export to mainland Europe and to price your goods in Euros.  You have decided to raise debt in Euros in order to hedge some of the risk of this cost / revenue imbalance.

Which of the following best describes this situation?

(a)
the Euro debt hedges the economic risk but creates a transaction risk

(b)
the Euro debt hedges the economic risk but creates a translation risk

(c)
the Euro debt is cheaper than sterling debt so must be beneficial

(d)
the Euro debt should be swapped to sterling to hedge the risk

(e)
don’t know

Answer 

The right answer is (b) the Euro debt hedges the economic risk but creates a translation risk.

There could be a very small transaction risk created if the timing of interest payments somehow could not be matched with Euro revenues, but this does not seem to be a significant worry.  The cost argument has surely been covered sufficiently – interest cost may be higher or lower but the cost of repayment will be unpredictable if unhedged.  If hedged, then the cost reverts to the sterling debt cost.

Swapping the debt to sterling will defeat the object of the hedge.  The Euro cost – to offset the Euro revenue – will be transformed to a sterling cost which will not match the Euro revenue.

Manual VIII Ch 5

